

الف) $a^n: aq^{n-1} \rightarrow r^{-1} \times r^{n-1} = r^{n-1} \rightarrow a_1 = r^1 = 2 \Delta 4$

ب) $\frac{a_{14}}{a_{13}} = q^1 = r^1 = 14$

ج) $q^{n+1} = \frac{b}{a} \Rightarrow q^r = \frac{a_{11}}{a_1} = q^4 = r^4 \Rightarrow q = 1 \rightarrow 4, (32), 2 \Delta 4$

د) $128 = \frac{1}{r} \times r^{n-1} \rightarrow r^v = r^{n-1} \rightarrow v = n-1 \rightarrow n = 9$

$\frac{a_8}{a_5} = q^3 \rightarrow \frac{96}{4} = q^3 \rightarrow q = 2$

$\rightarrow a_1 = a_8 q^7 = 96 \times 2 = 384$

الف) $a_1 \cdot a_r \cdot a_r \cdot a_4 \cdot a_5 = a^5 d^{10} = r^4 r^3 \Rightarrow (ad^r)^5 = r^7 \rightarrow ad^r = r \rightarrow a_r = r$

ب) $a_1 \cdot a_5 = a^2 d^4 = (ad^r)^2 = r^2 = 9$

$(\frac{1+\sqrt{2}}{2})^2 = r^a \times r^b \rightarrow r^2 = r^{a+b} \rightarrow a+b=2$

نسبت $\frac{a+b}{f+1} = \frac{2}{2} = 1$

$\frac{a_{11}}{a_1} = \frac{a_1}{a_3} = q^4 \Rightarrow a_{11}, a_3$ نسبت به a_1

$n^2 = (1+n)(1-n) \Rightarrow n^2 = 1-n^2 \rightarrow 2n^2 = 1 \rightarrow n = \frac{1}{\sqrt{2}} \times \frac{\sqrt{2}}{\sqrt{2}} = \frac{\pm\sqrt{2}}{2}$

$\rightarrow n = -\frac{\sqrt{2}}{2} \rightarrow q^4 = \frac{-\frac{\sqrt{2}}{2} + 1}{-\frac{\sqrt{2}}{2}} = \frac{-\sqrt{2} + 2}{-\sqrt{2}} = \frac{(-\sqrt{2} + 2)(-\sqrt{2})}{2} = \frac{2 - 2\sqrt{2}}{2} = 1 - \sqrt{2}$
 $\Rightarrow 1 - \sqrt{2} < 0, q^4 > 0 \rightarrow n \neq -\frac{\sqrt{2}}{2}, n = \frac{\sqrt{2}}{2}$

$a + aq^3 = 21 \rightarrow a(1 + q^3) = 21 \rightarrow \frac{a_1 + a_2}{a_1 + a_2} \cdot \frac{a(1+q)(1-q+q^2)}{aq(1+q)} = \frac{\frac{21}{q}}{\frac{21}{q}}$ $3 - 3q + 3q^2 = \sqrt{q} \rightarrow 3 - 1 \cdot q + 3q^2 = \sqrt{q} \rightarrow \Delta = 1 - 4(3) = -11 \rightarrow q = \frac{1 \pm \sqrt{-11}}{2(3)} = \frac{1 \pm \sqrt{11}}{6}$ $q_1 = \frac{1 + \sqrt{11}}{6} = \frac{3}{2} \quad 21 = \frac{21}{\frac{3}{2}} \cdot \frac{1}{\frac{3}{2}} \rightarrow a = 1 \rightarrow \text{مطلوب} : aq^3 = 1 \times \left(\frac{3}{2}\right)^3 = \frac{27}{8}$ در نسبت برقرار	6
$\frac{a}{2} \times a \times aq = 27 \rightarrow a^3 = 27 \rightarrow a = 3$ $\frac{a}{2} + 3 + 3q = 12 \rightarrow \frac{3}{2} + 3q = 9 \rightarrow 3q = 9 - \frac{3}{2} = \frac{15}{2} \rightarrow q = \frac{5}{2}$ مطلوب سوال if $q = 3 \rightarrow \frac{3}{2}, 3, 3 \times 3 \rightarrow 1, 3, 9$ if $q = \frac{1}{3} \rightarrow \frac{3}{2}, 3, 3 \times \frac{1}{3} \rightarrow 9, 3, 1$	7
$S_1 = 2 \left(\frac{3^k - 1}{3 - 1} \right), 3^k - 1 = 29048$ $\rightarrow q_1 = 2 \times 3^9 \rightarrow \sqrt{(a_1 \times a_{11})} = (a_1 \times a_{11})^{\frac{1}{2}} = (2^2 \times 3^{18})^{\frac{1}{2}} = 2 \times 3^9$	8
$a_n = a, aq, aq^2, \dots, aq^{n-1}$ $b_n = a(q-1), aq(q-1), aq^2(q-1), \dots, aq^{n-1}(q-1)$ $\frac{b_n}{b_1} = \frac{aq^{n-1}(q-1)}{a(q-1)} = q^{n-1} \Rightarrow \frac{b_n}{b_{n-1}} = \frac{aq^{n-1}(q-1)}{aq^{n-2}(q-1)} = q^{n-1-n+1} = q$	9
$\text{مجموع حسابی} = \frac{\text{تعداد} \times (\text{اولی} + \text{آخری})}{2} \rightarrow S = \frac{n(a_1 + a_n)}{2} = \frac{n}{2}(a + a_n), a_n = a + (n-1)d$ $\rightarrow S = \frac{n}{2}(a + a + (n-1)d) = \frac{n}{2}(2a + (n-1)d)$ 1) $S_n = a + aq + aq^2 + \dots + aq^{n-1} \times q \rightarrow qS_n = aq + aq^2 + \dots + aq^n$ $\rightarrow qS_n - S_n = (aq + aq^2 + \dots + aq^n) - (a + aq + \dots + aq^{n-1}) = aq^n - a = a(q^n - 1)$ $S_n(q-1) = a(q^n - 1) \rightarrow S_n = a \left(\frac{q^n - 1}{q - 1} \right)$	10